

BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY, FLORIDA CONSTRUCTION AGREEMENT

This Contract, entered into this 15th day of <u>December</u>, 20 20 by and between the Hernando County Board of County Commissioners, hereafter called the COUNTY, and <u>Civil Site Constructors, Inc.</u>, hereinafter called the VENDOR/CONTRACTOR. Owner and Vendor/Contractor, in consideration of the mutual covenants hereinafter set forth, agree as follow:

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

ITB NO. 20-CG0116/DK

BROOKSVILLE, FLORIDA

ARTICLE 1 - CONTRACT DOCUMENTS

1.01 The Vendor/Contractor shall furnish all labor, equipment and materials and perform the work above described for the amount stated above in strict accordance with the General Conditions, Special Conditions, Supplementary Conditions, Exhibits, Plans, Specifications, and other Contract Documents, all of which are made a part hereof and designated as follows:

1.01.1 The Contract Documents for Bid No. 20-CG0116/DK consist of the following:

Solicitation-Offer-Award

(Cover Page)

Advertisement of Bid

(Section I)

Solicitation Instructions

(Section II)

General Conditions

(Section III)

Special Conditions

(Section IV)

Supplementary Conditions for Federal/State Requirements

(Section V)

State Requirements

Scope and Specifications

(Section VI)

Bld Form

(Section VII)

Required Forms and Certifications

(Section VIII)

Construction Agreement and Required

Documents After Award

(Section IX)

Reference Documents

(Section X)

Exhibit A – General Requirements and Technical Specifications

Exhibit B - Plans/Drawings

All addenda issued by the County prior to the receipt of Bids and all supplementary drawings issued after award of the Contract become part of the Contract Document.

Amending and Supplementing Contract Documents:

The Contract Documents may be amended to provide for additions, deletions, and revisions in the work or to modify the terms and conditions thereof by Change Order.

The requirements of the Contract Documents may be supplemented, and minor variations and deviations in the work may be authorized, by one (1) or more of the following ways:

- **1.01.1.1** A Field Order:
- 1.01.1.2 Engineer's approval of a shop drawing or sample; or
- **1.01.1.3** Engineer's written interpretation or clarification per the provisions described in the Contract Documents.

In resolving such conflicts, errors and discrepancies, the documents shall be given preference in the following order: Agreement, Specifications, Drawings, Solicitation Instructions. Within the specifications the order of preference shall be as follows: Addenda, General Conditions, Technical Specifications. Figure dimensions on drawings shall govern over scale dimensions, and the detailed drawings shall govern over general drawings. Any work that may reasonably be inferred from the specifications or drawings as being required to produce the intended result shall be supplied whether or not it is specifically called for. Work materials or equipment described in words which so applied have a well-known technical or trade meaning shall be deemed to refer to such recognized standards. In case of conflict the more stringent requirements shall take precedence and govern.

The Vendor/Contractor shall take no advantage of any error or omission in the plans or of any discrepancy between the plans and specifications, and the Engineer shall make such interpretation as may be deemed necessary for the fulfillment of the intent of the plans and specifications as construed by him and his decision shall be final.

All provisions required by law to be inserted in this Contract, whether actually inserted or not.

Exhibits to this Agreement (as follows):

- **1.01.2** Vendor/Contractor's Bid
- **1.01.3** Documentation submitted by Vendor/Contractor after the Notice of Award:
 - 1.01.3.1 Insurance Certificate
 - 1.01.3.2 Payment and Performance Bond
- **1.02** The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
 - 1.02.1 Notice to Proceed
 - **1.02.2** Change Order(s)
- 1.03 The documents listed in the Article are attached to this Agreement (except as expressly noted otherwise).
- 1.04 There are no Contract Documents other than those listed in this Article
- **1.05** The Contract Documents may only be amended, modified, or supplemented as stated in Paragraph 55.

ARTICLE 2 - THE ENGINEER

2.01 Engineer in the administration of this Contract and any references to the Engineer or the Professional shall be deemed to mean Coastal Engineering Associates, Inc., for the plans and specifications. Michael Ullven, Brooksville-Tampa Bay Regional Airport will act as the Owner's representative, assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the work in accordance with their respective scope of work and the Contract Documents.

ARTICLE 3 – CONTRACT TIMES

- **3.01** Time of the Essence.
 - **3.01.1** All time limits for completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- **3.02** Days to Achieve Substantial Completion and Final Payment:
 - 3.02.1 Vendor/Contractor Agrees that the work will be substantially complete within **one hundred twenty (120)** calendar days after the commencement date indicated in the Notice to Proceed and ready for final payment within **one hundred fifty (150)** calendar days after the date indicated on the Notice to Proceed.

3.03 Liquidated Damages:

Vendor/Contractor and Owner agree for each consecutive calendar day that the work remains incomplete after the Contract date established for Substantial Completion and/or Final Completion, the County will retain from the compensation otherwise to be paid to the Vendor/Contractor the sum of **One Thousand Six Hundred Ninety and 00/100 (\$1,690.00)**. This amount is the minimum measure of damages the County will sustain by failure of the Vendor/Contractor to complete all remedial work, correct deficient work, clean up the project and other miscellaneous tasks as required to complete all work specified.

ARTICLE 4 - CONTRACT PRICE

- **4.01** Owner shall pay Vendor/Contractor for completion of the work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to the Paragraphs below:
 - **4.01.1** For all work other than Unit Price Work, a Lump Sum of:

One Million, Seven Hundred Sixty-Four Thousand, Two Hundred	(\$ <u>1,764,246.65</u>)
Forty-Six and 65/100	
(words)	(figure)

All specific cash allowances are included in the above price and have been computed in accordance with Paragraph 56.2.2.

4.01.2 For all Unit Price Work, an amount equal to the sum of the established unit price for each separately identified item of Unit Price Work times the estimated quantity of that item as indicated in this Paragraph:

As provided in Paragraph 56.3, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Owner Designated Representative as provided in Paragraph 56.3. Unit prices have been computed as provided in Paragraph 56.3.

UNIT PRICE WORK

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
	TELCOM DRIVE AND TECHNOLOGY DR PART I: GENERAL CONDITIONS				
1	Mobilization	LS	1	\$ 45,497.28	\$ 45,497.28
2	Survey Layouts/As-builts	LS	1	\$ 34,190.05	\$ 34,190.05
3	Construction Material Testing	LS	1	\$ 8,827.50	\$ 8,827.50
4	Florida Trench Safety Act	LS	1	\$ 1,000.00	\$ 1,000.00

ITEM NO.	DESCRIPTION	UNIT	QTY	UN	NIT PRICE	AMOUNT
5	Bond/Insurance	LS	1	\$	26,000.00	\$ 26,000.00
6	Maintenance of Traffic	LS	1	\$	2,942.50	\$ 2,942.50
7	Pre/Post Audio/Video	LS	1	\$	2,354.00	\$ 2,354.00
8	NPDES Monitor, Report, Management	LS	1	\$	1,765.00	\$ 1,765.00
	PART I - SUBTOTAL					\$ 122,576.33
	TELCOM DRIVE -PART II: CLEARING, GRUBBING AND EARTHWORK					
9	Silt Fence Installation & Removal	LF	4,786	\$	1.38	\$ 6,604.68
10	Clearing & Grubbing	AC	9	\$	4,500.00	\$ 40,500.00
11	Excavation	CY	20,000	\$	2.50	\$ 50,000.00
12	Embankment	CY	9,000	\$	2.50	\$ 22,500.00
	PART II - SUBTOTAL					\$ 119,604.68
	TELCOM DRIVE - PART III: STORM DRAINAGE					
13	18" RCP	LF	93	\$	41.53	\$ 3,862.29
14	24" RCP	LF	180	\$	52.69	\$ 9,484.20
15	30" RCP	LF	262	\$	71.46	\$ 18,722.52
16	18" MES	EA	2	\$	1,132.34	\$ 2,264.68
17	24" Double MES	EA	2	\$	2,475.83	\$ 4,951.66
18	30" Double MES	EA	2	\$	4,071.94	\$ 8,143.88
19	Type H Inlet	EA	4	\$	4,795.60	\$ 19,182.40
20	Sod Berms, Swales, DRA's	SY	10,447	\$	2.90	\$ 30,296.30
	PART III - SUBTOTAL					\$ 96,907.93
	TELCOM DRIVE - PART IV: SANITARY SEWER					
21	8" PVC SDR 26 0'-6'	LF	312	\$	15.85	\$ 4,945.20
22	8" PVC SDR 26 6'-8'	LF	498	\$	17.85	\$ 8,889.30
23	8" PVC SDR 26 8'-10'	LF	425	\$	20.85	\$ 8,861.25
24	8" PVC SDR 26 10'-12'	LF	476	\$	30.85	\$ 14,684.60
25	Manholes 0'-6'	EA	2	\$	2,377.05	\$ 4,754.10
26	Manholes 6'-8'	EA	2	\$	2,747.71	\$ 5,495.42
27	Manholes 8'-10'	EA	2	\$	3,277.27	\$ 6,554.54
28	Manholes 10'-12'	EA	2	\$	3,917.33	\$ 7,834.66
29	6" PVC SDR 26 Sanitary Service	LF	135	\$	22.81	\$ 3,079.35
30	Gravity Sewer Testing	LF	1,846	\$	2.35	\$ 4,338.10
	PART IV - SUBTOTAL					\$ 69,436.52
	TELCOM DRIVE - PART V: WATER DISTRIBUTION					
31	8" PVC C-900 Water Main	LF	60	\$	23.42	\$ 1,405.20
32	12" PVC C-900 Water Main	LF	2,150	\$	36.43	\$ 78,324.50
33	12" MJ 22.5 Ftg w/restraints	EA	2	\$	571.93	\$ 1,143.86
34	12"x8" MJ Tee Ftg w/restraints	EA	1	\$	857.88	\$ 857.88
35	12" MJ Tee Ftg w/restraints	EA	1	\$	973.81	\$ 973.81
36	12" MJ End Cap w/restraints	EA	1	\$	611.95	\$ 611.95
37	8" MJ End Cap w/ restraints	EA	1	\$	271.56	\$ 271.56
38	8" Gate Valve w/restraints w/box & pad	EA	1	\$	1,812.35	\$ 1,812.35
39	12" Gate Valve w/ restraints	EA	4	\$	2,580.89	\$ 10,323.56
40	Fire hydrant Assembly w/ restraints	EA	3	\$	4,317.74	\$ 12,953.22
41	Sample Point	EA	3	\$	333.67	\$ 1,001.01
42	Water Line Testing/Chlorination	LF	2,210	\$	2.00	\$ 4,420.00

ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE		AMOUNT
43	12"x12" Wet Tap w/ valve & sleeve	EA	1	\$	7,297.00	\$	7,297.00
44	Jack & Bore – 24" Steel Casing	LF	60	\$	354.63	\$	21,277.80
45	12" DIP Water Main	LF	80	\$	61.03	\$	4,882.40
46	1" Poly Water Service	EA	1	\$	756.52	\$	756.52
	PART V - SUBTOTAL					\$	148,312.62
	TELCOM DRIVE - PART VI: ROAD CONSTRUCTION						
47	12" Stabilized Subbase	SY	5,708	\$	4.00	\$	22,832.00
48	8" Limerock Base	SY	5,469	\$	11.24	\$	61,471.56
49	2" Type SP-12.5 Asphalt	SY	5,232	\$	10.00	\$	52,320.00
50	ROW Sod	SY	12,550	\$	2.90	\$	36,395.00
	SIGNAGE						
51	R1-1 Stop Sign 30"x30"	EA	2	\$	347.17	\$	694.34
52	D-3 County Roadway Name Sign	EA	4	\$	394.25	\$	1,577.00
53	OM1-1 Type 1 Marker 18"x18"	EA	6	\$	276.55	\$	1,659.30
54	OM4-1	EA	4	\$	176.55	\$	706.20
55	"NO OUTLET" (Dbl Sided)	EA	1	\$	350.00	\$	350.00
56	W1-7 Double Headed Arrow	EA	1	\$	588.50	\$	588.50
	STRIPING						
57	6" Solid Double Yellow (Thermoplastic)	LF	100	\$	4.53	\$	453.00
58	24" White Stop Bar (Thermoplastic)	LF	36	\$	8.06	\$	290.16
59	Yellow/Yellow RPM	EA	8	\$	20.30	\$	162.40
60	Blue/Blue RPM	EA	3	\$	30.30	\$	90.90
	PART VI - SUBTOTAL TOTAL BASE BID PARTS I - VI					\$	179,590.36
	ADDITIVE BID - TECHONOLOGY DRIVE - PART I - CLEARING, GRUBBING AND					\$	736,428.44
C4	EARTHWORK		0.744	Ф.	4.20	Φ.	40,405,00
61 62	Silt Fence Installation & Removal	LF	9,714	\$ \$	1.38	\$	13,405.32
63	Clearing & Grubbing Excavation	AC CY	24 88,000	\$	1,854.95 2.50	\$ \$	44,518.80
64	Embankment	CY	10,000	\$	2.50	\$	220,000.00 25,000.00
04	ADDITIVE BID PART I - SUBTOTAL	Ci	10,000	φ	2.30	\$	302,924.12
	ADDITIVE BID - TECHONOLOGY DRIVE - PART II- STORM DRAINAGE					P	302,924.12
65	42" RCP	LF	1,280	\$	116.02	\$	148,505.60
66	29"x45" RCP	LF	90	\$	139.22	\$	12,529.80
67	29"x45" MES	EA	1	\$	4,262.28	\$	4,262.28
68	42" Double MES	EA	1	\$	6,251.19	\$	6,251.19
69	Storm MH – Type J Bottom	EA	2	\$	9,635.93	\$	19,271.86
70	29"x45" Masonry Plug	EA	1	\$	1,000.00	\$	1,000.00
71	42" Masonry Plug	EA	2	\$	1,000.00	\$	2,000.00
72	Sod Berms, Swales, DRA's	SY	31,341	\$	2.90	\$	90,888.90
	ADDITIVE BID PART II - SUBTOTAL					\$	284,709.63
	ADDITIVE BID - TECHONOLOGY DRIVE - PART III- SANITARY SEWER						
73	8" PVC SDR 26 8'-10'	LF	257	\$	20.58	\$	5,289.06
74	8" PVC SDR 26 10'-12'	LF	828	\$	30.58	\$	25,320.24
75	Manholes 8'-10'	EA	1	\$	3,077.27	\$	3,077.27
76	Manholes 10'-12'	EA	3	\$	3,417.33	\$	10,251.99

ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE	AM	OUNT
77	6" PVC SDR 26 Sanitary Service	LF	240	\$	18.12	\$	4,348.80
78	Gravity Sewer Testing	LF	1,325	\$	2.35	\$	3,113.75
	ADDITIVE BID PART III - SUBTOTAL					\$	51,401.11
	ADDITIVE BID - TECHONOLOGY DRIVE - PART III- SANITARY SEWER						
79	8" PVC C-900 Water Main	LF	240	\$	23.42	\$	5,620.80
80	12" PVC C-900 Water Main	LF	2,050	\$	34.54	\$	70,807.00
81	12"x8" MJ Tee Ftg w/restraints	EA	4	\$	857.88	\$	3,431.52
82	8" MJ End Cap w/ restraints	EA	4	\$	255.93	\$	1,023.72
83	8" Gate Valve w/ restraints	EA	4	\$	1,812.35	\$	7,249.40
84	12" Gate Valve w/ restraints	EA	3	\$	2,815.59	\$	8,446.77
85	12" Offset Air Release Valve	EA	1	\$	2,131.01	\$	2,131.01
86	Fire hydrant Assembly w/ restraints	EA	3	\$	4,317.74	\$	12,953.22
87	Sample Point	EA	6	\$	340.54	\$	2,043.24
88	Water Line Testing/Chlorination	LF	2,290	\$	2.00	\$	4,580.00
89	Connect to Exist. 12" & Temp. Jumper Assembly	EA	1	\$	2,073.43	\$	2,073.43
	ADDITIVE BID PART IV - SUBTOTAL					\$	120,360.11
	ADDITIVE BID - TECHONOLOGY DRIVE - PART V- ROAD CONSTRUCTION						
90	12" Stabilized Subbase	SY	7,192	\$	4.00	\$	28,768.00
91	8" Limerock Base	SY	6,931	\$	11.24	\$	77,904.44
92	2" Type SP-12.5 Asphalt	SY	6,618	\$	10.00	\$	66,180.00
93	2" Asphalt mill (Existing Technology Drive)	SY	3,820	\$	2.50	\$	9,550.00
94	2" Type SP-12.5 Asphalt (Existing Technology Drive)	SY	3,820	\$	10.75	\$	41,065.00
95	ROW Sod	SY	15,502	\$	2.90	\$	44,955.80
	ADDITIVE BID PART V - SUBTOTAL					\$	268,423.24
	ADDITIVE BID - PART I - V					\$	1,027,818.21
	TOAL BASE BID - TELCOM DRIVE					\$	736,428.44
	TOTAL ADDITIVE BID - TECHNOLOGY DRIVE					\$	1,027,818.21
	TOTAL BID - TELCOM DR. + TECHNOLOGY DR.					\$	1,764,246.65

ESTIMATED TOTAL OF ALL UNIT PRICE WORK

\$ One Million, Seven Hundred \$(1,764,246.65)
Sixty-Four Thousand, Two
Hundred Forty-Six and 65/100
(use words) (figure)

ARTICLE 5 – PAYMENT PROCEDURES

5.01 Submittal and Processing of Payments:

5.01.1 Vendor/Contractor shall submit Applications for Payment in accordance with Paragraph 59.2.1. Applications for Payment will be processed by Owner Designated Representative as provided in the Contract Documents.

5.02 Progress Payments; Retainage:

- Owner shall make progress payments on account of the Contract Price on the basis of Vendor/Contractor's Applications for Payment not later than the time periods established by applicable provisions of the Florida Prompt Payment Act, Part VII, Ch. 218.735, F.S. (current version), during performance of the work as provided in Paragraphs below. All such payments will be measured by the Schedule of Values (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no schedule of values, as provided in the General Requirements:
 - 5.02.1.1 Prior to Completion of fifty percent (50%) of the Project, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner Designated Representative may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract Documents:
 - **5.02.1.1.1** Ninety percent (90%) of work completed (with the balance being retainage); and
 - **5.02.1.1.2** Ninety percent (90%) of cost of materials and equipment not incorporated in the work (with the balance being retainage).
 - **5.02.1.2** Upon Completion of fifty percent (50%) of the Project, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner Designated Representative may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract Documents:
 - **5.02.1.2.1** Ninety-five percent (95%) of work completed (with the balance being retainage); and
 - **5.02.1.2.2** Ninety-five percent (95%) of cost of materials and equipment not incorporated in the work (with the balance being retainage).
 - 5.02.1.3 Upon Completion of the fifty percent (50%) of the Project, the Vendor/Contractor may make application for payment of up to fifty percent (50%) of all retainage amount held by the Owner, and the Owner shall make payment of said amounts under the provisions the Florida Prompt Payment Act, Part VII, Ch. 218.735, F.S. (current version) unless the Owner has grounds for withholding said payment.

5.03 Final Payment:

- 5.03.1 Upon receipt of the final Application for Payment accompanied by Owner Designated Representative's recommendation of payment in accordance with Paragraph 59.7.1, Owner shall pay Vendor/Contractor the remainder of the Contract Price as recommended by Owner Designated Representative, less any sum Owner is entitled to set off against Owner Designated Representative's recommendation, including but not limited to liquidated damages.
- 5.03.2 Final Payment, constituting the entire unpaid balance of the Contract Sum, shall be paid by the Owner to the Vendor/Contractor when the work has been completed, the Contract fully performed, NPDES FDEP Notice of Termination (NOT) has been delivered to the Owner Designated Representative and a final Certificate for Payment has been issued by the Owner Designated Representative.

ARTICLE 6 – INTEREST

6.01 All moneys not paid when due shall bear interest at the maximum legal rate.

ARTICLE 7 - VENDOR/CONTRACTOR'S REPRESENTATIONS

- 7.01 In order to induce Owner to enter into this Agreement Vendor/Contractor makes the following representations:
 - **7.01.1** Vendor/Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bid Documents.
 - **7.01.2** Vendor/Contractor has visited the site and become familiar with and is satisfied as to the general, local, and site conditions that may affect cost, progress, and performance of the work.
 - **7.01.3** Vendor/Contractor is familiar with and is satisfied as to all federal, state, and local laws and regulations that may affect cost, progress, and performance of the work.
 - **7.01.4** Vendor/Contractor does not consider that any further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.
 - **7.01.5** Vendor/Contractor is aware of the general nature of work to be performed by Owner and others at the site that relates to the work as indicated in the Contract Documents.
 - **7.01.6** Vendor/Contractor has correlated the information known to Vendor/Contractor, information and observations obtained from visits to the site, reports and drawings identified in the Contract Documents, and all additional examinations, investigations, explorations, tests, studies, and data with the Contract Documents.
 - 7.01.7 Vendor/Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Vendor/Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Vendor/Contractor.
 - **7.01.8** The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the work.

ARTICLE 8 - MISCELLANEOUS

- **8.01** Terms:
 - **8.01.1** Terms used in this Agreement will have the meanings stated in the Contract Documents.
- 8.02 Assignment of Contract:
 - 8.02.1 No assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

8.03 Severability:

8.03.1 Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Vendor/Contractor, who agree that the Contract Documents

shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

8.04 This Agreement may be executed in several counterparts, each of which shall be an original and all of which shall constitute but one (1) and the same instrument.

ARTICLE 9 - CONTRACT PAYMENT

9.01 The County agrees to pay the Vendor/Contractor for the faithful performance under this Contract for the agreed amount of <u>One Million</u>, <u>Seven Hundred Sixty-Four Thousand</u>, <u>Two Hundred Forty-Six and 65/100</u> Dollars (\$1,764,246.65) and is based on the lump sum prices contained herein and subject to additions or deductions as modified.

OWNER: HERNANDO COUNTY BOARD OF COUNTY	VENDOR/CONTRACTOR			
COMMISSIONERS AND OF COUNTY	CIVIL SITE CONSTRUCTORS, INC.			
All minimum	Debbie Grubbs			
By: JOHN ALLOCCO	By Debui Youth			
Title: CHAIRMAN SEAL	Title: President			
[CORPORATE SEAL]	[CORPORATE SEAL]			
Juan Burus, De Dula Clark	Darren Williamson			
Attest: Douglas A. Chorvat, Jr.	Attest: Varu Waller			
Title: Clerk of Circuit Court & Comptroller	Title: Vice President			
Address for giving notices:	Address for giving notices:			
20 N. Main St., 2nd Floor, Rm 266	7281 Sunshine Grove Rd.			
Brooksville, FL 34601	Ste. 134			
	Brooksville, FL 34613			
	Agent for service of process:			
	Debbie Grubbs			

(If Vendor/Contractor is a corporation or a partnership,

attach evidence of authority to sign.)

20-C	90116/DK	TECHNOLOGY DRIVE ROADWAY EXTENSION	AUGUST 12,	2020	20-CG011	6/DK
BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY, FLORIDA John Allocco, Chairman Steve Champion, Vice Chairman Jeff Holcomb, Second Vice Chairman Wayne Dukes Elizabeth Narverud			HERNANDO COUNTY PURCHASING AND CONTRACTS 20 N. MAIN ST., 2ND FLOOR, RM 266 BROOKSVILLE, FL 34601 James S. Wunderle Purchasing and Contracts Manager Chief Procurement Officer			
SEALED	OFFERS, IN TW	SOLIC O (2) ORIGINALS, FOR FURNISHING THE	ITATION SERVICES, SUPPLIE	ES OR EQUIP	MENT DESCRIBE	HEREIN WILL
RECEIV P.M., I TIME. CONTRA PROPOS UNTIL S	ED AT THE OFFICE LOCAL TIME OFFICE THIS IS AN ADVE ACTS CONFERENCE SALS, OR REPLIES SUCH TIME AS THE	E OF PURCHASING AND CONTRACTS, 20 N N SEPTEMBER 16, 2020. NO BID OF RTISED SOLICITATION AND THE RESPOND E ROOM AT 3:00 P.M. ON SEPTEMB RECEIVED BY AN AGENCY PURSUANT TO AGENCY PROVIDES NOTICE OF AN INTENT EPLIES, WHICHEVER IS EARLIER.	I. MAIN ST., 2ND FLO FFERS WILL BE ACCI NDING BIDDERS WIL ER 16, 2020, PURS DA COMPETITIVE SO	OR, RM 266, BI EPTED AFTER LL BE PUBLICI SUANT TO FS 1 DUCITATION AF	ROOKSVILLE, FL 3 THE ABOVE STIP LY READ IN THE 19.071 (current ver RE EXEMPT FROM	4601, <u>UNTIL 3:1</u> ULATED DATE AN PURCHASING AN SION), SEALED BID FINAL INSPECTIO
ITEM NO.		OF SERVICE/SUPPLIES/EQUIPMENT	QTY	UNIT	UNIT PRICE	TOTAL AMOUN
1		Contractor will supply all materials, lab order to accomplish the TELCOM DR				E - A -

OFFER

described in the specifications and construction plans showing the proposed improvements in Hernando County,

Florida.

(SEE ATTACHED SPECIFICATIONS)

(TERMS, CONDITIONS AND SPECIFICATIONS ARE INCLUDED AS PARTS HEREOF)

IN COMPLIANCE WITH THE ABOVE, THE UNDERSIGNED, BEING DULY AI OFFER IS ACCEPTED WITHIN ONE HUNDRED TWENTY (120) COUNTY ANY AND ALL ITEMS FOR WHICH PRICES ARE OFFERED IN T DESIGNATED POINT(S), WITHIN THE TIME PERIOD SPECIFIED, AND AT FOR BIDS.	DAYS FROM THE BID OPENIN	G DATE, T	TO FURNISH TO HERNANDO SO OFFERED, DELIVERED AT
DISCOUNT FOR PROMPT PAYMENT:% 10 CALENDAR DAYS	% 20 CALENDAR DAYS	%	_ CALENDAR DAYS
BIDDER'S INFORMATION	NAME AND TITLE OF PERSON AUTHOR		
Civil Site Constructors, Inc.	BIDDER'S SIGNATURE	10	OFFER DATE
7281 Sunshine Grove Rd., Ste. 134	112 Levelle	5/4	OFFER DATE
H COULESS.	The same		09-23-20
	-		
352-592-4471 State 352-592-4472 debbie@civilsiteconstructo	ors.com		
Phone Number Fax Number Email Address	775372		

AWARD

(TO BE COMPLETED BY COUNTY)

REVIEWED FOR LEGAL SUFFICIENCY: 8/3/20	LR NO.: 2020-474	BY: Kyle Benda
ACCEPTED AS TO ITEM(S) NO:	AMOUNT:	ACCOUNTING CODE:
Hernando County BROOKSVILLE-TAMPA BAY REGIONA AIRPORT 15800 FLIGHT PATH DRIVE BROOKSVILLE, FLORIDA 34604	COUNTY:	THE PRESENT OF SIGN ACCEPTANCE AND AWARD FOR THE AWARD DATE.

SECTION VII - BID FORM Continued

BID SUBMISSION

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

The Board of County Commissioners Hernando County, Florida

AUTHORIZED SIGNATURE

The undersigned, hereinafter called "Bidder", having visited the site of the proposed project and familiarized himself with the local conditions, nature and extent of the work, and having examined carefully the Agreement Form, General Conditions, Special Conditions, Supplementary Conditions for Federal/State Requirements, Plans and Specifications and other Contract Documents, with the Bond Requirements herein, proposed to furnish all labor, materials, equipment and other necessary items, facilities and services for the proper execution and completion of the:

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

in full accordance with the drawings and specifications prepared in accordance with your Advertisement for Bids, Instruction to Bidders, Agreement and all other documents related thereto on file in the Office of the Hernando County Purchasing and Contracts Department and if awarded the Contract, to complete said work within the time limits specified for their Bid price.

Civil Site Constructors, Inc.	Debbie Grubb	s T	President
COMPANY NAME	CONTACT PERSO	ON (Name)	(Title)
7281 Sunshine Grove Rd., Ste. 134 MAILING ADDRESS	Debbie Grubb NAME (Print)	S	
Broooksville, FL 34613	352-592-4471	352-592-4472	debbie@civilsiteconstructors.co
CITY, STATE AND ZIP GODE	TELEPHONE NO.	– FAX NO EMA	IL ADDRESS

Inquiries regarding this Invitation for Bid may be directed to Diane Kafrissen, Purchasing Agent II, at telephone number 352-754-4020 or email purchasing@hernandocounty.us with a copy to dkafrissen@hernandocounty.us.

IMPORTANT NOTE: When completing your Bid, do not attach any forms which may contain terms and conditions that conflict with those listed in the County's Bid document(s). Inclusion of additional terms and conditions such as those which may be on your company's standard forms shall result in your Bid being declared non-responsive as these changes will be considered a counteroffer to the County's Bid.

PROPOSAL ONE (1)

TO HERNANDO COUNTY, FLORIDA for	
Telcom Drive and Technology Drive Roadway Extension	
and doing such other work incidental thereto, all in accordance with the Contract documents	, marked
Telcom Drive and Technology Drive Roadway Extension	

Every Bidder must take notice of the fact that even though his proposal be accepted and the documents signed by the Bidder to whom an award is made and by those officials authorized to do so on behalf of Hernando County, Florida, that no such award or signing shall be considered a binding Contract without a certificate from the Finance Director that funds are available to cover the cost of the work to be done, or without the approval of the County Attorney as to the form and legality of the Contract and all the pertinent documents relating thereto having been approved by said County Attorney; and such Bidder is hereby charged with this notice.

The signer of the Proposal, as Bidder, also declares that the only person, persons, company or parties interested in this Proposal, are named in the Proposal, that he has carefully examined the Advertisement of Bid, Solicitation Instructions, Contract Specifications, Plans, Supplementary Conditions for Federal/State Requirements, General Conditions, Special Conditions, Special Provisions and Contract Bond, that he or his representative has made such investigation as is necessary to determine the character and extent of the work and he proposes and agrees that if the Proposal be accepted, he will Contract with Hernando County, Florida in the form of Contract hereto annexed, to provide the necessary labor, materials, machinery, equipment, tools or apparatus, do all the work required to complete the Contract within the time mentioned in the Contract Documents according to the requirements of Hernando County, Florida, as herein and hereinafter set forth, and furnish the required surety bonds for the following prices to wit:

PROPOSAL TWO (2)

If the foregoing Proposal shall be accepted by Hernando County, Florida, and the undersigned shall fail to execute a satisfactory Contract as stated in the Advertisement herein attached, then the County may, at its option, determine that the undersigned has abandoned the Contract, and thereupon this Proposal shall be null and void, and the certified check or bond accompanying this Proposal, shall be forfeited to and become the property of Hernando County, Florida, and the full amount of said check shall be retained by the County, or if the Proposal Bond be given, the full amount of such bond shall be paid to the County as stipulated for liquidated damages; otherwise, the bond or certified check accompanying this Proposal, or the amount of said check, shall be returned to the undersigned as specified herein.

Attached hereto is a bond or certified check of		Bank,
One Million Seven Hundred Forty-One T for the sum of: Seven Hundred Forty-Six & 6.).
The full names and residences of all persons	and parties interested in the foregoing	Bid are as follows:
(If Corporation, give the names and address names and addresses of the members or part of any person with whom Bidder has any enrichment, employment of possible benefit employer, is contingent upon the award of the	tners. The Bidder shall list not only his type of Agreement whereby such it, whether Sub-Contractor, materialr	name, but also the name person's improvements,
NAMES:	ADDRESSES:	
Debbie Grubbs/President	7281 Sunshine Grove Rd., Ste. 13	4 Brooksville, FL 34613
-		
Signature of Bidder	-	
Anomalia room nonda da	RPORATION	os Individual)

PROPOSAL THREE (3)

The person signing shall, in his own handwriting, sign the Principal's name, his own name and his title. Where the person signing for a corporation is other than the President or Vice-President, he must, by affidavit, show his authority to bind the Corporation.

By:	
Business Address of Bidder:7281 Sunshine Grove Rd., Ste. 134	
City/State/Zip: Brooksville, FL 34613	
Dated at: Brooksville, FL , this 16th day of September	A.D., 20 <u>20</u>

SECTION VII - BID FORM - 2ND REVISED

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

The Vendor/Contractor shall provide all labor and other resources necessary to provide the supplies, equipment and/or services in strict accordance with the specifications defined in this Solicitation for the amounts specified in this Bid Form, inclusive of overhead, profit and any other costs.

Vendor/Contractor is to understand that the total Bid price is based on the estimated quantities indicated as follows and will control in awarding the Contract as provided in the Solicitation Instructions. It is further understood that the quantities stated in the Bid Form for various items are estimated only and may be increased or decreased as provided in the Contract.

BASE BID - TELCOM DRIVE AND TECHNOLOGY DRIVE - PART I - GENERAL CONDITIONS

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
1	Mobilization	LS	1	45,497.28	45,497.28
2	Survey Layouts/As-builts	LS	1	34,190.05	34,190.05
3	Construction Material Testing	LS	1	8,827.50	8,827.50
4	Florida Trench Safety Act	LS	1	1,000.00	1,000.00
5	Bond/Insurance	LS	1	26,000.00	26,000.00
6	Maintenance of Traffic	LS	1	2,942.50	2,942.50
7	Pre/Post Audio/Video	LS	1	2,354.00	2,354.00
8	NPDES Monitor, Report, Management	LS	1	1,765.00	1,765.00

PART I SUBTOTAL: 122,576.33

BASE BID - TELCOM DRIVE - PART II - CLEARING, GRUBBING AND EARTHWORK

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
9	Silt Fence Installation & Removal	LF	4,786	1.38	6,604.68
10	Clearing & Grubbing	AC	0.19	4,500.00	40,500.00
11	Excavation	CY	20,000	2.50	50,000.00
12	Embankment	CY	9,000	2.50	22,500.00

PART II SUBTOTAL:

119,604,68

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

BASE BID - TELCOM DRIVE - PART III - STORM DRAINAGE

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
13	18" RCP	LF	93	41.53	3,862.29
14	24" RCP	LF	94 180	52.69	9,484.20
15	30" RCP	LF	84 262	71.46	18,722.52
16	18" MES	EA	2	1,132.34	2,264.68
17	24" Double MES	EA	2	2,475.83	4,951.66
18	30" Double MES	EA	2	4,071.94	8,143.88
19	Type H Inlet	EA	4	4,795.60	19,182.40
20	Sod Berms, Swales, DRA's	SY	10,447	2.90	30,296.30

PART III SUBTOTAL: 96,907.93

BASE BID - TELCOM DRIVE - PART IV - SANITARY SEWER

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
21	8" PVC SDR 26 0'-6'	LF	312	15.85	4,945.20
22	8" PVC SDR 26 6'-8'	LF	498	17.85	8,889.30
23	8" PVC SDR 26 8'-10'	LF	425	20.85	8,861.25
24	8" PVC SDR 26 10'-12'	LF	476	30.85	14,684.60
25	Manholes 0'-6'	EA	2	2,377.05	4,754.10
26	Manholes 6'-8'	EA	2	2,747.71	5,495.42
27	Manholes 8'-10'	EA	2	3,277.27	6,554.54
28	Manholes 10'-12'	EA	2	3,917.33	7,834.66
29	6" PVC SDR 26 Sanitary Service	LF	135	22.81	3,079.35
30	Gravity Sewer Testing	LF	1711 1,846	2.35	4,338.10

PART IV SUBTOTAL:

69,436.52

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

BASE BID - TELCOM DRIVE - PART V - WATER DISTRIBUTION

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
31	8" PVC C-900 Water Main	LF	60	23.42	1,405.20
32	12" PVC C-900 Water Main	LF	2,150	36.43	78,324.50
33	12" MJ 22.5 Ftg w/restraints	EA	12	571.93	1,143.86
34	12"x8" MJ Tee Ftg w/restraints	EA	1	857.88	857.88
35	12" MJ Tee Ftg w/restraints	EA	1	973.81	973.81
36	12" MJ End Cap w/restraints	EA	1	611.95	611.95
36 37	8" MJ End Cap w/ restraints	EA	1	271.56	271.56
38	8" Gate Valve w/restraints w/box & pad	EA	1	1,812.35	1,812.35
37 39	12" Gate Valve w/ restraints	EA	5 4	2,580.89	10,323.56
38 40	Fire hydrant Assembly w/ restraints	EA	3	4,317.74	12,953.22
39 41	Sample Point	EA	3	333.67	1,001.01
40 42	Water Line Testing/Chlorination	LF	2150 2,210	2.00	4,420.00
41 43	12"x12" Wet Tap w/ valve & sleeve	EA	1	7,297.00	7,297.00
42 44	Jack & Bore - 24" Steel Casing	LF	60	354.63	21,277.80
43 45	12" DIP Water Main	LF	80	61.03	4,882.40
46	1" Poly Water Service	EA	1	756.52	756.52

PART V SUBTOTAL: 148,312.62

BASE BID - TELCOM DRIVE - PART VI - ROAD CONSTRUCTION

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
44-47	12" Stabilized Subbase	SY	5923 5,708	4.00	22,832.00
45 48	8" Limerock Base	SY	5458— 5,469	11.24	61,471.56
46 49	2" Type SP-12.5 Asphalt	SY	5226 5,232	10.00	52,320.00
47 50	ROW Sod	SY	9514 12,550	2.90	36,395.00

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

BASE BID - TELCOM DRIVE - PART VI - ROAD CONSTRUCTION

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
	SIGNAGE				
48-51	R1-1 Stop Sign 30"x30"	EA	2	347.17	694.34
49-52	D-3 County Roadway Name Sign	EA	4	394.25	1,577.00
50-53	OM1-1 Type 1 Marker 18"x18"	EA	76	276.55	1,659.30
54	OM4-1	EA	4	176.55	706.20
55	"NO OUTLET" (Dbl Sided)	EA	1	350.00	350.00
51 56	W1-7 Double Headed Arrow	EA	1	588.50	588.50
	STRIPING				
52-57	6" Solid Double Yellow (Thermoplastic)	LF	100	4.53	453.00
53-58	24" White Stop Bar (Thermoplastic)	LF	36	8.06	290.16
54-59	Yellow/Yellow RPM	EA	16 8	20.30	162.40
60	Blue/Blue RPM	EA	3	30.30	90.90

	PART VI SUBTOTAL:		179,590.36
BASE BID - TELCOM DRIVE - PART I T	O IV TOTAL:	736,428.44	

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

ADDITIVE BID - TECHNOLOGY DRIVE - I - CLEARING, GRUBBING AND EARTHWORK

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
55-61	Silt Fence Installation & Removal	LF	9,714	1.38	13,405.32
56-62	Clearing & Grubbing	AC	33-24	1,854.95	44,518.80
57-63	Excavation	CY	88,000	2.50	220,000.00
58-64	Embankment	CY	1,000	2.50	2,500.00

ADDITIVE BID - PART I SUBTOTAL:

280,424.12

ADDITIVE BID - TECHNOLOGY DRIVE - PART II - STORM DRAINAGE

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
59	24" RCP	LF	86	2	*
60	30"-RCP	LE	178.0	4.	ă.
61 65	42" RCP	LF	1254 1,280	116.02	148,505.60
62 66	29"x45" RCP	LF	90	139.22	12,529.80
63 67	29"x45" MES	EA	1	4,262.28	4,262.28
64 68	42" Double MES	EA	1	6,251.19	6,251.19
65 69	Storm MH - Type J Bottom	EA	2	9,635.93	19,271.86
66 70	29"x45" Masonry Plug	EA	1	1,000.00	1,000.00
67 71	42" Masonry Plug	EA	2	1,000.00	2,000.00
68-72	Sod Berms, Swales, DRA's	SY	31853 31,341	2.90	90,888.90

ADDITIVE BID - PART II SUBTOTAL:

284,709.63

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

ADDITIVE BID - TECHNOLOGY DRIVE - PART III- SANITARY SEWER

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
69 73	8" PVC SDR 26 8'-10'	LF	518 257	20.58	5,289.06
70 74	8" PVC SDR 26 10'-12'	LF	568 828	30.58	25,320.24
71-75	Manholes 8'-10'	EA	1	3,077.27	3,077.27
72-76	Manholes 10'-12'	EA	3	3,417.33	10,251.99
73-77	6" PVC SDR 26 Sanitary Service	LF	225 240	18.12	4,348.80
74-78	Gravity Sewer Testing	LF	1445 497 1325	2.35	3,113.75

ADDITIVE BID - PART III SUBTOTAL: 51,401.11

ADDITIVE BID - TECHNOLOGY DRIVE - PART IV - WATER DISTRIBUTION

NO. DESCRIPTION		UNIT	QTY	UNIT PRICE	AMOUNT	
75 79	8" PVC C-900 Water Main	LF	180 240	23.42	5,620.80	
76-80	12" PVC C-900 Water Main	LF	2,050	34.54	70,807.00	
77	12" MJ 22.5 Ftg w/restraints	EA	4			
78 81	12"x8" MJ Tee Ftg w/restraints	EA	3-4	857.88	3,431.52	
79-82	8" MJ End Cap w/ restraints	EA	34	255.93	1,023.72	
80 83	8" Gate Valve w/ restraints	EA	4	1,812.35	7,249.40	
81 84	12" Gate Valve w/ restraints	EA	3	2,815.59	8,446.77	
82-85	12" Offset Air Release Valve	EA	1	2,131.01	2,131.01	
83	1" Poly Water Service	EA	4			
84 86	Fire hydrant Assembly w/ restraints	EA	3	4,317.74	12,953.22	
85 87	Sample Point	EA	26	340.54	2,043.24	
86 88	Water Line Testing/Chlorination	LF	160 2,290	2.00	4,580.00	
87 89	Connect to Exist. 12" & Temp. Jumper Assembly	EA	1	2,073.43	2,073.43	

ADDITIVE BID - PART IV SUBTOTAL:

120,360.11

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

BID FORM

FOR

ITB NO. 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

ADDITIVE BID - TECHNOLOGY DRIVE - PART V - ROAD CONSTRUCTION

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
88 90	12" Stabilized Subbase	SY	6977 7.192	4.00	28,768.00
89 91	8" Limerock Base	SY	6942 6,931	11.24	77,904.44
90 92	2" Type SP-12.5 Asphalt	SY	6624 6,618	10.00	66,180.00
91 93	2" Asphalt mill (Existing Technology Drive)	SY	3,820	2.50	9,550.00
92 94	2" Type SP-12.5 Asphalt (Existing Technology Drive)	SY	3,820	10.75	41,065.00
93 95	ROW Sod	SY	15,502	2.90	44,955.80
	SIGNAGE				
94	OM1-1 Type 1 Marker 18"x18"	EA	3		

ADDITIVE BID - PART V SUBTOTAL:	268,423.24
ADDITIVE BID - TECHNOLOGY DRIVE - PART I TO V TOTAL:	1,005,318.21
TOTAL BASE BID - TELCOM DRIVE TOTAL:	736,428.44
TOTAL ADDITIVE BID – TECHNOLOGY DRIVE TOTAL:	1,005,318.21
TOTAL BID TELCOM DRIVE PLUS TECHNOLOGY DRIVE:	1,741,746.65

TOTAL BID (in words): One million seven hundred fortyone thousand seven hundred fortysix & 65/100 DOLLARS

<u>Civil Site Constructors, Inc.</u> Company Name

Authorized Signature

SECTION VIII REQUIRED FORMS AND CERTIFICATIONS WITH BID SUBMISSION

DRUG FREE WORKPLACE CERTIFICATE

I, the undersigned, in accordance with Florida Statute 287.087 (current version), hereby certify that, (print or type name of firm) Civil Site Constructors, Inc.

- > Publishes a written statement notifying that the unlawful manufacture, distribution, dispensing, possession or use of a controlled substance is prohibited in the Workplace named above, and specifying actions that will be taken against violations of such prohibition.
- Informs employees about the dangers of drug abuse in the workplace, the firm's policy of maintaining a drug free working environment, and available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug use violations.
- > Gives each employee engaged in providing commodities or Contractual services that are under proposal a copy of the statement specified above.
- > Notifies the employees that as a condition of working on the commodities or Contractual services that are under proposal, the employee will abide by the terms of the statement and will notify the employer of any conviction of, pleas of guilty or nolo contendere to, any violation of Chapter 893, or of any controlled substance law of the State of Florida or the United States, for a violation occurring in the workplace, no later than five (5) days after such conviction, and requires employees to sign copies of such written statement to acknowledge their receipt.
- Imposes a sanction on, or requires the satisfactory participation in, a drug abuse assistance or rehabilitation program, if such is available in the employee's community, by any employee who is so convicted.
- > Makes a good faith effort to continue to maintain a drug free workplace through the implementation of the Drug Free Workplace program.
- > "As a person authorized to sign this statement, I certify that the above named business, firm or corporation complies fully with the requirements set forth herein",

Authorized Signature
09-16-20
Date Signed

County of: Hernando
Sworn to and subscribed before me this 16th day of September , 20 20
Personally known or Produced Identification (Specify Type of Identification)

Signature of Notary

My Commission Expires:

CLARENCE SCOTT MITCHELL Notary Public - State of Florida Commission # GG 234171 My Comm. Expires Jul 19, 2022

Bonded through National Notary Assn.

AFFIDAVIT OF NON-COLLUSION AND OF NON-INTEREST OF HERNANDO COUNTY EMPLOYEES

	to commit a fraudulent, deceitful, unlawful or wrongful act of collusion.
Debbie Grubbs	, * being first duly sworn, deposes and says that he
(it) is the Vendor/Contractor in the	above Bid/Proposal, that the only person or persons interested in said
	no officer, employee or agent of the Hernando County Board of County
	other Vendor/Contractor is interested in said Bid/Proposal; and that affiant no past or present collusion with any other person, firm or corporation.
makes the above Blu/Froposal with	The past of present condition with any other person, limit of corporation.
	Letter & July -
	Afflant
STATE OF Florida	
COUNTY OF Hernando	÷ 1 - 10.70
COUNTY OF Herriando	The state of the s
The foregoing instrument w	vas acknowledged before me this 16thday of September, 20 20
by Debbie Grubbs	, who is personally known to me or who has produced
as identification and who did take a	an oath.
	1 11 6011
Notone Bublio	CLARENCE SCOTT MITCHELL
Notary Public:	Notary Public - State of Florida Commission # GG 234171
wy Commission Expires	My Comm. Expires Jul 19, 2022
*NOTICE: State name of Vendor/0	Bonded through National Notary Assn. Contractor followed by name of authorized in dividual (and title) that is
	actor is an individual, state name of Vendor/Contractor only.

SWORN STATEMENT PURSUANT TO SECTION 287.133 (3) (a), FLORIDA STATUTES (current version), IN PUBLIC ENTITY CRIMES

THIS FORM MUST BE SIGNED AND SWORN TO IN THE PRESENCE OF A NOTARY PUBLIC OR OTHER OFFICIAL AUTHORIZED TO ADMINISTER OATHS.

-	County of Hernando
by	Debbie Grubbs/President [print individual's name and title]
for	Civil Site Constructors, Inc. [print name of entity submitting sworn statement]
whos	e business address is 7281 Sunshine Grove Rd., Ste. 134 Brooksville, FL 34613
	olicable) its Federal Employer Identification Number (FEIN) is 33-1064425
	e entity has no FEIN, include the Social Security Number of the individual signing this swon
l und (curre	nent): erstand that a "public entity crime" as defined in Paragraph 287.133 (1)(g), Florida Statute: ent version), means a violation of any public entity or with an agency or political subdivision of ther State or of the United States, including, but not limited to, any Proposal or Contract fo
goods state	or services to be provided to any public entity or an agency or political subdivision of any other or of the United States and involving antitrust, fraud, theft, bribery, collusion, racketeering
	oiracy, or material misrepresentation. erstand that <i>"convicted"</i> or <i>"conviction"</i> as defined in Paragraph 287.133 (1)(b), Florida Statute
(curre adjud indict	ent version), means a finding of guilt or a conviction of a public entity crime, with or without a ication of guilt, in any federal or state trial court of record relating to charges brought be ment or information after July 1, 1989, as a result of a jury verdict, non-jury trial, or entry of
	of guilty or nolo contendere. erstand that an <i>"affiliate"</i> as defined in Paragraph 287.133 (1)(a), Florida Statutes (currer
	on), means:
a.	A predecessor or successor of a person convicted of a public entity crime; or
b.	An entity under the control of any natural person who is active in the management of the entit and who has been convicted of a public entity crime. The term "affiliate" includes thos officers, directors, executives, partners, shareholders, employees, members, and agents wh are active in the management of an affiliate. The ownership by one (1) person of share constituting a controlling interest in another person, or a pooling of equipment or incom among persons when not for fair market value under an arm's length Agreement, shall be
	prima facie case that one (1) person controls another person. A person who knowingly enter into a joint venture with a person who has been convicted of a public entity crime in Florid
mear the le Contr	during the preceding thirty-six (36) months shall be considered an affiliate. erstand that a "person" as defined in Paragraph 287.133(1)(e), Florida Statutes (current version is any natural person or entity organized under the laws of any state or of the United States wit egal power to enter into a binding Contract and which Proposals or applies to Proposal or acts for the provisions of goods or services let by a public entity, or which otherwise transact uplies to transact business with a public entity. The term "person" includes those officers

directors, executives, partners, shareholders, employees, members, and agents who are active in management of an entity.

6. Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sworn statement: [indicate which statement applies]

X Neither the entity submitting this sworn statement, nor any of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, nor any affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989.

The entity submitting this sworn statement, or one (1) or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989.

The entity submitting this sworn statement, or one (1) or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989. However, there has been a subsequent proceeding before a Hearing Officer of the State of Florida, Division of Administrative Hearings and the Final Order entered by the Hearing Officer determined that it was not in the public interest to place the entity submitting this sworn statement on the convicted Vendor/Contractor list [attach a copy of the final order].

I UNDERSTAND THAT THE SUBMISSION OF THIS FORM TO THE CONTRACTING OFFICER FOR THE PUBLIC ENTITY IDENTIFIED IN PARAGRAPH ONE (1) ABOVE IS FOR THAT PUBLIC ENTITY ONLY AND, THAT THIS FORM IS VALID THROUGH DECEMBER 31, OF THE CALENDAR YEAR IN WHICH IT IS FILED. I ALSO UNDERSTAND THAT I AM REQUIRED TO INFORM THE PUBLIC ENTITY PRIOR TO ENTERING INTO A CONTRACT.

signature]

09-16-20 [date]

STATE OF FLORIDA COUNTY OF Hernando

PERSONALLY APPEARED BEFORE ME, the undersigned authority

Debbie Grubbs who, after first being

[Name of Individual Signing]

sworn by me, affixed his signature in the space provided above/on this

day of September 2020

NOTARY PUBLIC

My commission expires:

CLARENCE SCOTT MITCHELL Notary Public - State of Florida Commission # GG 234171 My Comm. Expires Jul 19, 2022

Bonded through National Notary Assn.

AUTHORIZED SIGNATURES/NEGOTIATORS

The Vendor/Contractor represents that the following persons are authorized to sign and/or negotiate Contracts and related documents to which the Vendor/Contractor will be duly bound:

	_ Title .	President	_ FIIONE NO	352-592-4471
Darren Williamson		General Manager		352-592-4471
Deblie Hubt.	- م		-	
Signature)				
President				
(Title)				
Civil Site Constructors, Inc.				
(Name of Business)				
	complete	e and submit the follow	ing informatio	n with the Bid or
proposal:	complete	e and submit the follow	ing informatio	n with the Bid or
The Vendor/Contractor shall proposal: Type of Organization Sole Proprietorship	complete	e and submit the follow — Partnership	ring informatio	n with the Bid or
proposal: Type of Organization	_		ring informatio	n with the Bid or
proposal: Type of Organization Sole Proprietorship Joint Venture	_	— Partnership	ring informatio	n with the Bid or

VENDOR/CONTRACTOR INFORMATION

In addition to General conditions, your BID/PROPOSAL may be disqualified if the following Vendor/Contractor information is not returned with your BID/PROPOSAL.

Vendor/Contractor is:	
(X) Corporation () Partnership	
	(Explain)
() Other	(Explain)
Federal Employer Identification Numbe	r: 33-1064425
	tach your completed W-9 Form
PAYMENT WILL NOT BE MADE UN	NTIL A COMPLETED W9 HAS BEEN RECEIVED
Firm Name: Civil Site Constructors, In	IC.
Mailing Address: 7281 Sunshine Grov	ve Rd., Ste. 134
City_Brooksville	StateFL Zip_34613
Telephone No. 352-592-4471	Fax No. 352-592-4472
Web Address:	EMail: debbie@civilsiteconstructors.com
Commodity or Service Supply:Earth	work/Grading
If remittance address is different from the	ne mailing address so indicate below.
Firm Name: N/A	
Mailing Address:	
City	State Zip
physical check. (X) Please check this box if you accommended and Preferred) Signature:	rept the ACH electronic payment method.
Name & Title Printed: Debbie Grub	bs/President

LOCAL VENDOR AFFIDAVIT OF ELIGIBILITY

THIS FORM MUST BE SIGNED AND SWORN TO IN THE PRESENCE OF A NOTARY PUBLIC OR OTHER OFFICIAL AUTHORIZED TO ADMINISTER OATHS.

	by	Debl	oie Grubb	os/President [Print individ	ual's name and title]		_
	for	Ci	vil Site Co	enstructors, Inc.			
			[Print na	ime of Company/Ind	ividual submitting swor	rn statement]	
	Whose	e busine	ss address	is 7281 Sunshine	Grove Rd., Ste. 134	Brooksville, FL 340	613
	(If app	olicable)	its Federal	Employer Identification	on Number (FEIN) is	33-1064425	
	(If the	entity	has no FE	EIN, include the So	cial Security Number	of the individual signing	g this Sworn statement)
2.	LOCA	L PREF	ERENCE E	LIGIBILITY			all and a second
	A. V	endor/lr f Bid or	dividual h	as been in business		for a minimum of twelve	e (12) months prior to date
	B. P	roof of I	Real Prope	rty Tax Submitted v	vith Affidavit: YES _	NO X	
	C. C	opy of F	lorida Div	sion of Corporation	s Annual Report Sub	omitted with Affidavit: Yi	ES NO _X_
FOR	THE PUE	BLIC EN	TITY IDEN	TIFIED IN PARAGR	APH ONE (1) ABOVE O OR QUOTE SUBMIT [Signature]		ASING AND CONTRACTS ENTITY ONLY AND, THA UNTY.
					09-16-20 [Date]		
STAT	E OF FLO	ORIDA Hernar	ndo_	1			
PERS Swor	SONALLY n by me, a	APPEA affixed h	RED BEFO	ORE ME, the undersi	gned authority Deb	bie Grubbs Day of September	who, after first being, 20_20
				NOTARY P	JBLIC JEST	CLARENCE SCOTT MITCHE	
			My cor	nmission expires:		Notary Public - State of Flo Commission # GG 23417	1
	onally Kno			_ or Produced Ider	ntification	My Comm. Expires Jul 19, Bonded through National Notary	

HERNANDO COUNTY E-VERIFY CERTIFICATION

Bid/Contract No:ITB No. 20-CG0116/DK
Financial Project No(s):
Project Description:Telcom Drive and Technology Drive Roadway Extension
Vendor/Contractor acknowledges and agrees to the following:
Vendor/Contractor shall utilize the U.S. Department of Homeland Security's E-Verify system, in accordance with the terms governing use of the system, to confirm the employment eligibility of:
 All persons employed by the Vendor/Contractor during the term of the Contract to perform employment duties within Florida; and All persons, including Sub-Contractors, assigned by the Vendor/Contractor to perform work pursuant to the Contract with the Department.
Company/Firm: Civil Site Constructors, Inc. Authorized Signature:
Print Name: Debbie Grubbs
Title: President
Date: 09-16-20

CONSTRUCTION CONTRACTOR QUALIFICATION SUBMITTAL PACKAGE REQUIREMENTS

A. REFERENCES FOR BIDDER:

Bidder must provide a minimum of two (2) references. Required format for references is provided at the end of this attachment. References must be individuals that can be readily contacted and have first-hand knowledge of the Bidder's performance on the specific project performed by the Bidder. Each reference project must meet the following criteria:

- Project at substantial completion or completed within the last seven (7) years.
- Constructed value of at least \$2,359,422.60.
- Similar in size and scope to the Telcom Drive and Technology Drive Roadway Extension.

B. KEY SUBCONTRACTORS:

Each Bidder must submit with its response a list of Sub-Contractors who will perform the work in each of the following categories ("Key Sub-Contractors"). List the name of the proposed Sub-Contractor, or "Bidder" if the Bidder will perform the work, after each work category:

(1) Clearing and Grubbing Civil Site Constructors, Inc.
(2) Excavation Civil Site Constructors, Inc. (3) Underground Utility Relocation JDB Underground
(3) Underground Utility Relocation JDB Underground (4) Drainage Work Civil Site Constructors, Inc.
(5) Storm Sewer Construction Civil Site Constructors, Inc. (6) Thermoplastic Underwood Paving
(7) Paving <u>Underwood Paving</u>
C. <u>LICENSES</u> :
The Bidder must be a registered to do business in the State of Florida. All Bidder's and/or Sub-Contractors performing work requiring a specialty license must be licensed in the State of Florida. This includes but is not limited to electrical and mechanical trades, as well as any other earthwork Contractor on the Bidder's team. Provide license information (as required in Paragraph 27) below for Bidder and all Sub-Contractors identified herein.
Classification Issuing Government License Issue Date Number
FDOT Pre-Qualified for Grading, Drainage & Felxible Paving (See Attached)

D. ORGANIZATION CHART:

Bidder must provide an Organization Chart showing Bidder's Team identifying specific responsibilities of Bidder and Sub-Contractors.

ATTACHMENT 9 Continued

E. PROJECT MANAGER AND SUPERINTENDENT QUALIFICATIONS:

Bidder must provide resumes of Project Manager and Superintendent listing qualifications, experience, education and training. The Project Manager and Superintendent must have adequate experience, generally considered as a working project manager/ superintendent on a minimum of two projects, similar in size and scope to the Telcom Drive and Technology Drive Roadway Extension, within the past seven (7) years.

F. BIDDER/KEY SUBCONTRACTOR SPECIFIC QUALIFICATIONS:

Bidder must demonstrate Bidder's/Key Sub-Contractor's experience and expertise in the tasks provided below and at the minimum identified criteria. Specific projects, locations and Contractor who performed work must be provided.

Document prior experience in construction roads. Gulf Coast Retreats/Hernando Beach , FL	
Document prior experience in construction of water and sewer drainage systems.	
Gulf Coast Retreats/Hernando Beach, FL	

This document should be completed and returned with your Submittal.

THE REMAINDER OF THIS PAGE LEFT BLANK INTENTIONALLY.

16-Sep-20

THE FOLLOWING IS AN ORGANIZATIONAL CHART FOR CIVIL SITE CONSTRUCTORS, INC.:

DUTIES:

Debbie Grubbs: 100% Owner, President, Vice President, Secretary & Treasurer

Full-time CEO. 100% Financially responsible, oversee all bids, contracts, equipment purchases, employment, certified payroll,

marketing, advertising, accounts receiveable and payables.

Also overseeing all insurance requirements and insurance certificates.

Darren Williamson: General Manager, bid estimating, job scheduling, equipment

scheduling, sales and overseeing job progression.

Clarence Mitchell: Chief Estimator, client relations, job coordination, marketing, material

purchases.

Charles Nikolet: Site Foreman, crew chief, equipment operator, field surveyor, pipe

supervisor, finish grade operator.

Currently we have eleven additional employees that are equipment operators/laborers. We hire additional employees as needed for project demands.

Sincerely,

Debbie Grubbs President

Clarence Scott Mitchell

16349 Caldwell Lane Spring Hill, Fl. 34610 813-267-7475 scott@civilsiteconstructors.com

Work Experience

Civil Site Constructors Inc.

2009 to Present

7281 Sunshine Grove Rd. Suite 134

Brooksville, Fl. 34613

Job Title: Estimator / Project Manager

Job description: Researching jobs to bid, plan take off, cost analysis, bidding and project management.

Responsibilities: Competitive Bidding of earthwork, storm drainage, water distribution, sanitary sewer systems and paving projects in both the private and government sector. Purchasing of materials and sub-contract labor to complete the projects. Scheduling and coordination with owner/project management for completion of said projects. Coordination and management of field supervision for procurement of materials equipment and personnel.

Projects Completed:

Pasco County Shady Hills Waste Water Treatment Plant Expansion. Paving, Grading, Drainage.

City of Tampa Friendship Trail. Paving, Grading, Drainage. Utility Relocation.

Hillsborough County Memorial Highway Bridge, Paving, Grading, Drainage. Utilities.

Macdill Air force Base, Combat Training Facility, Paving, Grading, and Drainage. Utilities.

Macdill Air force Base, ASTS MEDICAL FACILITY, Paving, Grading, and Drainage. Utilities.

Macdill Air force Base, SOCOM Parking Garage, Paving, Grading, and Drainage. Utilities.

Hillsborough County Aviation Authority, Plant City Airport T-Hangar, Paving, Grading, and Drainage. Utilities.

Hillsborough County Aviation Authority, Plant City and Peter O'Knight Airports Paving, Grading, Misc.

Hillsborough County Aviation Authority Tampa International Airfield Drainage Rehabilitation.

Hernando County Airport Taxiway renovation and Sinkhole repair.

Oak Hill Hospital addition, Paving, Grading, and Drainage. Utilities.

Simmons Construction Company, Inc.

1993 to 2009

13018 US 41 N

Brooksville, Fl. 34610

Job Title: Estimator / Project Manager

Job description: Researching jobs to bid, plan take off, cost analysis, bidding and project management

Responsibilities: Competitive Bidding of earthwork, storm drainage, water distribution, sanitary sewer systems and paving projects in both the private and government sector. Purchasing of materials and sub-contract labor to complete the projects. Scheduling and coordination with owner/project management for completion of said projects. Coordination and management of field supervision for procurement of materials equipment and personnel.

During a 16 year period of employment for Simmons Construction Company, I oversaw in excess of seventy million dollars worth of work including all phases of highway and heavy construction for FDOT, SWWMD, US Army Corp of Engineers, as well as numerous Counties and City municipalities.

Charles T. Nikolet Jr.

Civil Site Constructors Inc. 7281 Sunshine Grove Rd. Suite 134 Brooksville, Fl. 34613

Office. 352.592.4471

Fax. 352.592.4472

Cell. 727.992.5832

Skills

*Agtek *Microsoft Word *Microsoft Excel
*Clearing Crew *Dirt Crew *Pipe Crew *Curb Crew *Road Crew

Experience

June 2012-Present
Civil Site Constructors Inc.
7281 Sunshine Grove Rd. Suite 134
Brooksville, Fl. 34613

Operations/Project Management (2012-Present)

Job production from start to completion
Requesting quotes from vendors & subcontractors
Coordinate Meetings & job Safety talks
Material & equipment ordering

July 1987-June 2012 Simmons Construction Co. Inc. 13018 US Hwy. 41 N. Brooksville, FL 34610

Estimator/Project Manager (2007-Present)

Responsible for complete sitework package Takeoffs
Requesting quotes from vendors & subcontractors
Putting complete bids together and submitting to clients
Billing, pay requests, job meetings

General Superintendent (1994-2007)

Coordinated all jobs from start to finish and oversaw all aspects of work being performed on a day to day operation working and scheduling with our foremen and material suppliers

Foreman (1987-1993)

This is where I cut my teeth in the business I did concrete flat work, curb work, waterline, sanitary, storm and structures, headwalls, clearing and grubbing, open burn, pond excavation etc..

FDOT Job Experience

Widen US Hwy. 19. from County Line rd. (Pasco/Hernando) To Toucan Trail.

Softwind/Caldwell Dr. (Pasco Co.)

Widen SR 52 @ Curley Rd. (San Antonio)(Pasco Co.)

Turn Lanes, Widen SR 52, entrance to Lake Jovita (Pasco Co.)

Turn Lanes, Median cut and pipe work US Hwy. 19 (Glenn Lakes) (Hernando Co.)(Bob Valdez)

Hernando Oaks driveway entrance US 41 for maintenance office/shop (Hernando Co.)

driveway connect. Pipe work & Miters SR 52 & Chicago Ave. (Sparkys) (Pasco Co.)(Bob Valdez)

US 41 widening (Tower rd. to Sunterra Dr.) (Pasco Co.)

ATTACHMENT 9 Continued

REFERENCE 1

Reference Business/Owner Name	Pasco County Board of County Commissioners		
Reference Contact Person	Pasco County Utilities		
Reference Address	N/A		
Reference Phone No.	N/A		
Reference Email Address	N/A		
Project Name	Shady Hills Wastewater Treatment Facility Expansion		
Project Location	Shady Hills, Pasco County, FL		
Contractor Project Manager	Rob Vaughn - Brasfield & Gorrie Contractors		
Site Superintendent	N/A		
Contract Amount	\$1,500,000.00		
Date Project Commenced	08-07		
Date of Substantial Completion			
Date of Final Completion	06-09		
Description of Work Performed	Clearing, Earthwork, Grading, Storm Drainage, Base & Paving		

REFERENCE 2

Reference Business/Owner Name	Hillsborough County Board of County Commissioners	
Reference Contact Person	N/A	
Reference Address	Hillsborough County, FL	
Reference Phone No.	N/A	
Reference Email Address	N/A	
Project Name	Public Safety Operations Complex	
Project Location	Tampa, FL	
Contractor Project Manager	Clark Construction	
Site Superintendent		
Contract Amount	\$2,400,000.00	
Date Project Commenced	04-16	
Date of Substantial Completion		
Date of Final Completion	09-18	
Description of Work Performed	Clearing, Earthwork, Grading, Storm Drainage, Base & Paving	

ATTACHMENT 9 Continued

REFERENCE 3

Reference Business/Owner Name	Hernando County Board of County Commissioners	
Reference Contact Person	Rick Leach	
Reference Address	20 N. Main St. Rm. 263 Brooksville, FL 34601	
Reference Phone No.	352-754-4000	
Reference Email Address	N/A	
Project Name	Gulf Coast Retreats	
Project Location	Hernando Beach, FL	
Contractor Project Manager	Scott Mitchell	
Site Superintendent	Charles Nikolet	
Contract Amount	\$1,650,000.00	
Date Project Commenced	06-13	
Date of Substantial Completion		
Date of Final Completion	07-15	
Description of Work Performed	Rebuild 4 miles of existing roadway, including, water, sewer, storm, base & paving.	

Experience shall be related to successfully completed projects within the last seven (7) years (i.e. the project must have been Substantially Complete within seven (7) years of the due date of this ITB. Only projects that are complete or substantially complete as of the Bid due date will be considered).

I certify that the qualifications questionnaire information is true and correct to the best of my knowledge:

Company	Civil Site Constructors, Inc.
By Debl	pie Grubbs
Name D	ebbie Grubbs 1, 1
Signature	Jether July
Address 72	281 Sunshine Grove Rd., Ste. 134 Brooksville, FL 34613 Phone 352-592-4471
Date 09-1	6-20

This document should be completed and returned with your Submittal.

THE REMAINDER OF THIS PAGE LEFT BLANK INTENTIONALLY.



Florida Department of Transportation

RON DESANTIS GOVERNOR

605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

May 26, 2020

CIVIL SITE CONSTRUCTORS, INC. 7281 SUNSHINE GROVE RD. BROOKSVILLE, FLORIDA 34613

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2021. However, the new application is due 4/30/2021.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwpl.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES: DRAINAGE, FLEXIBLE PAVING, GRADING

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Alan Autry, Manager

Alan D. Autry

Contracts Administration Office

AA:cg

TRENCH SAFETY ACT COMPLIANCE FORM

- 1. The Vendor/Contractor acknowledges the existence of the Florida Trench Safety Act at §553.60 through 553.64, Florida Statutes (current version) (hereinafter called the "Act") and the requirements established herein.
- 2. The Vendor/Contractor further acknowledges that the Act stabled the Federal excavation safety standards set forth at 29 CFR Part 1926, Subpart P as the Interim State standard applicable to this project.
- The Vendor/Contractor will comply with all applicable trench safety standards, during all phases of the work, if awarded the Contract, and will ensure that all Sub-Contractors will also comply with the Act.
- 4. The Vendor/Contractor will consider the geotechnical information available from the County, from its own sources and all other relevant information in its design of the trench safety system it will employ on the subject project. The Vendor/Contractor acknowledges that the County is not obligated to provide such information, that Vendor/Contractor is not to rely solely on such information if provided, and that Vendor/Contractor is solely responsible for the selection of the data on which he relies in designing said safety system, as well as for the system itself.
- 5. The Vendor/Contractor acknowledges that included in the Total Price in the Bid Form are costs for complying with the Florida Trench Safety Act, which is in effect as of October 1, 1990. The undersigned further identifies the costs to be \$0.21 per lineal foot.
- 6. The amount in Item 5 herein includes the Trench Safety Compliance Methods and the units of each safety measure. The unit costs and the unit prices are shown solely for the purpose of compliance with the procedural requirements of the Act.

	Trench Safety Compliance Method	Unit (LF, SY)	Quantity	Unit Cost	Extended Cost
A.	Storm/Sanitary	LF	4700	\$ 0.21	\$ 1000.00
В.				\$	\$
C.				\$	\$
D.				\$	\$
				TOTAL:	

Use additional blank sheets to further itemize if more room is required.

7. Acceptance of the Bid to which this certification and disclosure applies in no way represents that the County or its representatives have evaluated or determined that the above costs are adequate to comply with the applicable trench safety requirements, nor does it in anyway relieve the undersigned of his sole responsibility for complying all applicable safety requirements.

Company: Civil Site Constructors, Inc.

Authorized Signature Date

This document should be completed and returned with your Submittal.

AFFIDAVIT

(To be filled in and executed if the Vendor/Contractor is a Corporation)

STATE OF FLORIDA]
COUNTY OF HERNANDO]

Debbie Grubbs	being duly sworn, deposes and says	that he is Secretary of
Civil Site Constructors, Inc.	, a Corporation organized and	existing under and by
virtues of the laws of the State	te of Florida, and having its principal office at:	
7281 Sunshine Grove Rd., Ste.	. 134 Brooksville, FL 34613	(Address)
Affiant further says that he is	familiar with the records, minute books and bylaws of	f
Civil Site Constructors, Inc.	(Name of Corp	ooration) of the
Corporation, is duly authorize	ed to sign Debbie Grubbs/President	(Title)
the Bid for <u>Telcom Drive and</u>	d Technology Drive Roadway Extension for said	d Corporation by virtues
of: 06-2003		
	r a provision of bylaws or a Resolution of the Board on, give date of adoption).	f Directors.
	\	-
	Affiant	Hubbe
Sworn to before me	this 16th day of September CLARENCE SCOTT MITCHELL Notary Public - State of Florida Commission # GG 234171 My Comm. Expires Jul 19, 2022 Bonded through National Notary Assn. Notary Public	7 20 20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

This document should be completed and returned with your Submittal.

BID BOND

Any singular reference to Vendor/Contractor, Surety, Owner, or other party shall be considered plural where

applicab	le.
VENDOR/CONTRACTOR (Name and Address):	140 (40 (40 (40 (40 (40 (40 (40 (40 (40 (
Civil Site Constructors, Inc.	
7281 Sunshine Grove Rd., Ste. 134	
Brooksville, FL 34613	
SURETY (Name and Address of Principal Place of Busin The Gray Insurance Company	ess):
P.O. Box 6202	
Metairie, LA 70009-6202	
OWNER:	
BOARD OF COUNTY COMMISSIONERS	
20 North Main Stree Brooksville, Flori	
BID	
Project:	
20-CG0116/DK - TELCOM DRIVE AND TECHN	IOLOGY DRIVE ROADWAY EXTENSION
BROOKSVILLE,	FLORIDA
BOND	
Bond Number: NA/Bid	
Date (Not later than Bid due date): September 16, 2020	
Penal sum FIVER PERCENT OF AMOUNT BID	5%
(Words)	(Figures)
(**************************************	(1.1941.00)
Surety and Vendor/Contractor, intending to be legally bou	
everse side hereof, do each cause this Bid Bond to be d	uly executed on its behalf by its authorized officer,
agent, or representative.	
/ENDOR/CONTRACTOR	SURETY
LIBONIONIMATON	GONETT
Civil Site Constructors, Inc. (Seal)	The Gray Insurance Company (Seal)
Vender/Contractor's Name and Corporate Seal	Surety's Name and Corporate Seal
(11) L. While Accident	and Comments
By: Petter Still I have By:	
Signature and Title	Signature and Title Kevin Wojtowicz, Attorney-in-Fact and
	(Attach Power of Attorney) Florida Licensed Agent
11/1/1/10	1 1 () Car Ba
Attest: January C. P. Atte	
Signature and Title	Signature and fitle Tracey C. Brown-Boone

Note: Above addresses are to be used for giving required notice.

Witness to Surety

THE GRAY INSURANCE COMPANY THE GRAY CASUALTY & SURETY COMPANY

GENERAL POWER OF ATTORNEY

Bond Number: NA/Bid

Principal: Civil Site Constructors, Inc.

Project: 20-CG0116/DK - TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION - BROOKSVILLE, FLORIDA

KNOW ALL BY THESE PRESENTS, THAT The Gray Insurance Company and The Gray Casualty & Surety Company, corporations duly organized and existing under the laws of Louisiana, and having their principal offices in Metairie, Louisiana, do hereby make, constitute, and appoint Kevin Wojtowicz, Daniel F. Oaks, Jessica Reno, Devin Phillips, Richard Zimmerman, Christian Collins, and Laura D. Mosholder of St. Petersburg, Florida jointly and severally on behalf of each of the Companies named above its true and lawful Attorney(s)-in-Fact, to make, execute, seal and deliver, for and on its behalf and as its deed, bonds, or other writings obligatory in the nature of a bond, as surety, contracts of suretyship as are or may be required or permitted by law, regulation, contract or otherwise, provided that no bond or undertaking or contract of suretyship executed under this authority shall exceed the amount of \$10,000,000,00.

This Power of Attorney is granted and is signed by facsimile under and by the authority of the following Resolutions adopted by the Boards of Directors of both The Gray Insurance Company and The Gray Casualty & Surety Company at meetings duly called and held on the 26th day of June, 2003.

"RESOLVED, that the President, Executive Vice President, any Vice President, or the Secretary be and each or any of them hereby is authorized to execute a power of Attorney qualifying the attorney named in the given Power of Attorney to execute on behalf of the Company bonds, undertakings, and all contracts of surety, and that each or any of them is hereby authorized to attest to the execution of such Power of Attorney, and to attach the seal of the Company; and it is

FURTHER RESOLVED, that the signature of such officers and the seal of the Company may be affixed to any such Power of Attorney or to any certificate relating thereto by facsimile, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be binding upon the Company now and in the future when so affixed with regard to any bond, undertaking or contract of surety to which it is attached,

IN WITNESS WHEREOF, The Gray Insurance Company and The Gray Casualty & Surety Company have caused their official seals to be hereinto affixed, and these presents to be signed by their authorized officers this 12th day of September, 2011.

Michael T. Gray President, The Gray Insurance Company and

Vice President, The Gray Casualty & Surety Company Attest:

Mark S. Manguno Secretary, The Gray Insurance Company, The Gray Casualty & Surety Company



State of Louisiana

Parish of Jefferson

On this 12th day of September, 2011, before me, a Notary Public, personally appeared Michael T. Gray, President of The Gray Insurance Company and Vice President of The Gray Casualty & Surety Company, and Mark S. Manguno, Secretary of The Gray Insurance Company and The Gray Casualty & Surety Company, personally known to me, being duly sworn, acknowledged that they signed the above Power of Attorney and affixed the seals of the companies as officers of, and acknowledged said instrument to be the voluntary act and deed, of their companies.



Lisa S. Millar, Notary Public, Parish of Orleans State of Louisiana

My Commission is for Life

I, Mark S. Manguno, Secretary of The Gray Insurance Company and The Gray Casualty & Surety Company, do hereby certify that the above and forgoing is a true and correct copy of a Power of Attorney given by the companies, which is still in full force and effect. IN WITNESS WHEREOF, I have set my hand and affixed the seals of the Companies, this 16th day of September 2020





Mark S. Manguno, Secretary The Gray Insurance Company

The Gray Casualty & Surety Company

VENDOR CERTIFICATION REGARDING SCRUTINIZED COMPANIES

Vendor/Contractor's Authorized Representative		
Debbie Grubbs/President	e Name and Title:	
Address: 7281 Sunshine Grove Rd., Ste. 134		
City: Brooksville	State: FL	Zip: _34613
Phone Number: _352-592-4471		
Email Address: debbie@civilsiteconstructors.co	m	
F.S. (Current Edition), or the Scrutinized Companies (Current Edition), or companies that are engaged in a	boycott of Israel or compa	anies engaged in business operations in
Cuba or Syria. As the person authorized to sign on behalf of Respo		
Cuba or Syria.	ndent, I hereby certify the ted on either the Scrutini. Iran Petroleum Energy Solid in a boyon, the submission of a falson	nat the company identified above in the zed Companies with Activities in Sudal sector list, or the Scrutinized Companie cott of Israel. I understand that pursuance certification may subject company to
Cuba or Syria. As the person authorized to sign on behalf of Responsection entitled "Respondent Vendor Name" is not list list or the Scrutinized Companies with Activities in the that Boycott Israel list. I further certify that the companito section 287.135 (Current Edition), Florida Statutes	ndent, I hereby certify the ted on either the Scrutini. Iran Petroleum Energy Solid in a boyon, the submission of a falson	nat the company identified above in the zed Companies with Activities in Sudal sector list, or the Scrutinized Companie cott of Israel. I understand that pursuance certification may subject company to

This document should be completed and returned with your Submittal.

Date:

09-16-20

HERNANDO COUNTY EMPLOYMENT DISCLOSURE CERTIFICATION STATEMENT

09-16-20	
(date)	
Hernando County Purchasing and Contracts 20 N. Main St., 2nd Floor, Rm 266 Brooksville, FL 34601	
The undersigned certifies that to the best of	of his/her knowledge:
	orietor, Associate or Member of the BusinessEntity nty within the last two (2) years? No ☑ Yes ☐
a Relative or Member of the Househo	orietor, Associate or Member of the BusinessEntity old of a current Hernando County Employee that a this Procurement or Contract Authorization?
No 🗶 Yes 🗌	
	uestions is "Yes", complete the "Relatives and s - Roles and Signatures" table (Part A and/or Part
Bidder:	
debbie@civilsiteconstructors.com (Email address)	7281 Sunshine Grove Rd., Ste. 134 Brooksville, FL 34613 (Address)
Delta Huls	352-592-4471
(Signature required)	(Phone)
Debbie Grubbs (Print name)	
President	33-1064425
(Print title)	(Federal Taxpayer ID Number)

ATTACHMENT 15 Continued

NONE	re	Job Performed for Hernando County	Current Role with Business Entity	Date Left Hernando County
lame:				
Involved with this behalf of Hernan	s Procurement on			
	pposal development nent? No ☐ Yes ☐			
lame:				
behalf of Hernan No ☐ Yes ☐ • Involved with Pro	s Procurement on			
ame:				
behalf of Hernan No ☐ Yes ☐ • Involved with Pro	s Procurement on			
hat are Relatives or Mer	nbers of the Household	oprietors, Associates o d of Hernando County e e had or will have any i	mployees currently wo	rking for
Firm Officer, Partner, Director, Proprietor,	Member of House	nship of Relative or ehold Employed at lo County	Role at Hernando County	Hernando County employee' Role with

(Make copies of this form as needed to list additional employees.)

375-030-33 PROCUREMENT 10/01

CERTIFICATION FOR DISCLOSURE OF LOBBYING ACTIVITIES ON FEDERAL-AID CONTRACTS (Compliance with 49CFR, Section 20.100 (b))

The prospective participant certifies, by signing this certification, that to the best of his or her knowledge and belief:

- (1) No federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of any federal agency, a Member of Congress, an officer of employee of Congress, or an employee of a Member of Congress in connection with the awarding of any federal contract, the making of any federal grant, the making of any federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any federal contract, grant, loan, or cooperative agreement.
- (2) If any funds other than federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any federal agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure of Lobbying Activities", in accordance with its instructions. (Standard Form-LLL can be obtained from the Florida Department of Transportation's Professional Services Administrator or Procurement Office.)

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by Section 1352, Title 31, U.S. Code. Any person who fails to file the required certification shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.

The prospective participant also agrees by submitting his or her proposal that he or she shall require that the language of this certification be included in all lower tier subcontracts, which exceed \$100,000 and that all such subrecipients shall certify and disclose accordingly.

	Name of Consultant:	
-	By Date: 09-16-20	Authorized Signature
	Title: President	

375-030-34 PROCUREMENT 02/16

ATTACHMENT 17 STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION DISCLOSURE OF LOBBYING ACTIVITIES

Is this form applicable to your firm? YES NO K If no, then please complete section 4 below for "Prime"

1. Type of Federal Action: a. contract b. grant c. cooperative agreement d. loan e. loan guarantee f. loan insurance	2. Status of Feder a. bid/offer/app b. initial award c. post-award	lication	a. initial filing b. material change For Material Change Only: Year: Quarter: Date of last report: (mm/dd/yyyy)
4. Name and Address of Reportin X Prime	rdee _, <i>if known</i> : 34	5. If Reporting Address of Pri	Entity in No. 4 is a Subawardee, Enter Name and ime:
Congressional District, if known: 4	c	Congressiona	I District, if known:
6. Federal Department/Agency:			ogram Name/Description:
8. Federal Action Number, if known:		9. Award Amount, if known: \$	
10. a. Name and Address of Lobbying Registrant (if individual, last name, first name, MI):		different from	s Performing Services (including address if m No. 10a) first name, MI):
11. Information requested through this form is authorized by title 31 U.S.C. section 1352. This disclosure of lobbying activities is a material representation of fact upon which reliance was placed by the tier above when this transaction was made or entered into. This disclosure is required pursuant to 31 U.S.C. 1352. This information will be available for public inspection. Any person who fails to file the required disclosure shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.		Title: Preside	Debbie Grubbs nt o.: 352-592-4471 Date (mm/dd/yyyy): 09-16-20
Federal Use Only:			Authorized for Local Reproduction Standard Form LLL (Rev. 7-97)

375-030-34 PROCUREMENT 04/14 Page 2 of 2

INSTRUCTIONS FOR COMPLETION OF SF-LLL, DISCLOSURE OF LOBBYING ACTIVITIES

This disclosure form shall be completed by the reporting entity, whether subawardee or prime Federal recipient, at the initiation or receipt of a covered Federal action, or a material change to a previous filing, pursuant to title 31 U.S.C. section 1352. The filing of a form is required for each payment or agreement to make payment to any lobbying entity for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with a covered Federal action. Complete all items that apply for both the initial filing and material change report. Refer to the implementing guidance published by the Office of Management and Budget for additional information.

- 1. Identify the type of covered Federal action for which lobbying activity is and/or has been secured to influence the outcome of a covered Federal action.
- 2. Identify the status of the covered Federal action.
- 3. Identify the appropriate classification of this report. If this is a followup report caused by a material change to the information previously reported, enter the year and quarter in which the change occurred. Enter the date of the last previously submitted report by this reporting entity for this covered Federal action.
- 4. Enter the fullname, address, city, State and zip code of the reporting entity. Include Congressional District, if known. Check the appropriate classification of the reporting entity that designates if it is, or expects to be, a prime or subaward recipient. Identify the tier of the subawardee, e.g., the first subawardee of the prime is the 1st tier. Subawards include but are not limited to subcontracts, subgrants and contract awards under grants.
- 5. If the organization filing the report in item 4 checks "Subawardee," then enter the full name, address, city, State and zip code of the prime Federal recipient. Include Congressional District, if known.
- 6. Enter the name of the Federal agency making the award or loan commitment. Include at least one organizational level below agency name, if known. For example, Department of Transportation, United States Coast Guard.
- 7. Enter the Federal program name or description for the covered Federal action (item 1). If known, enter the full Catalog of Federal Domestic Assistance (CFDA) number for grants, cooperative agreements, loans, and loan commitments.
- Enter the most appropriate Federal identifying number available for the Federal action identified in item 1 (e.g., Request for Proposal (RFP) number; Invitation for Bid (IFB) number; grant announcement number; the contract, grant, or loan award number; the application/proposal control number assigned by the Federal agency). Include prefixes, e.g., "RFP-DE-90-001."
- 9. For a covered Federal action where there has been an award or loan commitment by the Federal agency, enter the Federal amount of the award/loan commitment for the prime entity identified in item 4 or 5.
- (a) Enter the full name, address, city, State and zip code of the lobbying registrant under the Lobbying
 Disclosure Act of 1995 engaged by the reporting entity identified in item 4 to influence the covered Federal
 action.
 - (b) Enter the full names of the individual(s) performing services, and include full address if different from 10 (a). Enter Last Name, First Name, and Middle Initial (MI).
- 11. The certifying official shall sign and date the form, print his/her name, title, and telephone number.

According to the Paperwork Reduction Act, as amended, no persons are required to respond to a collection of information unless it displays a valid OMB Control Number. The valid OMB control number for this information collection is OMB No. 0348-0046. Public reporting burden for this collection of information is estimated to average 10 minutes per response, including time for reviewing instructions, searching existing data sources, gathering and maintaining the data needed, and completing and reviewing the collection of information. Send comments regarding the burden estimate or any other aspect of this collection of information, including suggestions for reducing this burden, to the Office of Management and Budget, Paperwork Reduction Project (0348-0046), Washington, DC 20503.

Convicted or Discriminatory Vendor List Statement

Those who have been placed on the convicted vendor list following a conviction for a public entity crime or on the discriminatory vendor list may not submit a bid on the contract to provide any goods or services to a public entity, may not submit a bid on a contract with a public entity for construction or repair of a public building or public work, may not submit bids on leases of real property to a public entity, may not be awarded or perform work as a contractor, supplier, subcontractor, or consultant under a contract with a public entity, and may not transact business with any public entity in excess of \$25,000.00 for a period of 36 months from the date of being placed on the convicted vendor list or on the discriminatory vendor list.

CERTIFICATION REGARDING DEBARMENT, SUSPENSION, INELIGIBILITY AND VOLUNTARY EXCLUSION

It is certified that neither the below identified firm nor its principals are presently suspended, proposed for debarment, declared ineligible, or voluntarily excluded from participation in this transaction by any federal department or agency.

Instructions for Certification

- 1. Certifies the company/firm are not presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from covered transactions by the federal department or agency;
- 2. have not within a five-year period preceding this proposal been convicted of or had a civil judgment rendered against them for fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (federal, state or local) transaction or contract under public transaction; violation of federal or state antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements, or receiving stolen property;
- 3. are not presently indicated or otherwise criminally or civilly charged by a governmental entity (federal, state or local) with commission of any offenses enumerated in this document; and
- 4. have not within five-year period preceding this Agreement had one or more public transactions (federal, state or local) terminated for cause or default.

If the above is unable to certify to any of the statements in this certification, then the company/firm shall attach an explanation to this agreement.

Disadvantaged Business Enterprise (DBE) Affirmation Statement

Prime Contractor/Prime Consultant: Civil Site Constructors, Inc.
Telephone Number: <u>352-592-4471</u>
Address: 7281 Sunshine Grove Rd., Ste. 134 Brooksville, FL 34613
I hereby certify that the above stated contractor/consultant is a (select one): **DBE** DBE** Non-DBE**
Subcontractor Services List
Please list all subcontractors for services:
Company Name:
Telephone Number: 352-597-6946
Address: 13325 Convent Gardent Rd. Brooksville, FL 34613
The above company named is a (select one):
□ DBE ■ Non-DBE
C. La III in the contract of t
CompanyName: Underwood Paving
Telephone Number: 352-556-6813
Address: P.O. Box 237 Aripeka, FL 34679
The above company named is a (select one): DBE Non-DBE
DBE Non-DBE
Company Name:
Telephone Number:
Address:
Address
The above company named is a (select one):
DBE Non-DBE
Company Name:
Telephone Number:
Address:
The above company named is a (select one):
☐ DBE ☐ Non-DBE
• Commony Names
Company Name: Talaphana Number:
Telephone Number:
Address:
The above company named is a (select one):
DBE Non-DBE

ADDENDUM ACKNOWLEDGEMENT

he undersigned acknowledges receip ndicate number and date of each):	of the following addenda to the Bid/Request for Proposals
1	09-01-2020
ddendum No Date	
3	09-10-2020
ddendum No Date	
	09-16-2020
ddendum No. <u>6</u> Date	d <u>09-21-2020</u>
ddendum No Date	d <u>09-21-2020</u>
Civil Site Constructors, Inc.	Authorized Signature
<u>v</u>	ENDOR SURVEY
lease provide information on where y roposals (mark all that apply):	ou received the knowledge of the Bid/Request for
BIDNET DIRECT	
NEWSPAPER	
PURCHASING AND CONTRACTS	ADVERTISEMENT BOARD
REFERRED BY:	

This document should be completed and returned with your Submittal.

OTHER (PLEASE SPECIFY):

ADDENDUM NO. ONE (1)

TO
THE CONTRACT DOCUMENTS
FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. CLARIFICATIONS

1. Question In reference to the above project, I am requesting clarification if the County would allow for the implementation of Thick Lifts (Section 125-8.4) beginning at the concrete pipe springline. As established in ASCE Standard 15, ASTM C1479, and AASHTO LRFD Bridge Construction Specifications, the structural embedment for concrete pipe is required up to the springline. Above the springline is considered overfill and does not contribute to the concrete pipe structural embedment nor is it a factor in the structural design. Enabling the use of thicker lifts at the springline, as allowed in Section 125 per the adjacent embankment, would improve the installation efficiency, particularly for larger diameters (e.g., 42-inch RCP) while still allowing for density inspection.

Answer: The project was Engineered without the implementation of Thick Lifts therefore the bidders shall bid the project without the use of Thick Lifts.

2. Question: The contract time of 120 calendar days seems quite aggressive for the base contract work being bid considering the utility testing and acceptance criteria within the roadway project. Would the Owner consider adding another 60 calendar days for the base bid?

Answer: The contract time will remain as indicated in the specifications. The contract time from NTP it shall be 120 calendar days to Substantial Completion and an additional 30 calendar days from Substantial Completion to Final Completion.

3. Question: Will additional contract time be granted if the Owner awards the base bid and the additive bid as shown in the schedule of values?

Answer: The contract time will remain as indicated in the specifications. The contract time from NTP shall be 120 calendar days to Substantial Completion and a additional 30 calendar days from Substantial Completion to Final Completion.

4. Question: On sheet C-04 TYPICAL ROADWAY SECTION DETAILS: The Typical Road Section under pavement requirements Shoulder = 4' wide sod over 6" of stabilized LBR 40. There is a bid item for 12 Stabilization in the roadway sections of the bid documents but no item for 6" shoulder stabilization. There is also no breakout for shoulder sod. Is it the County's intent that this item be added to the overall sod cost?

Answer: Sheet C-04 TYPICAL ROADWAY SECTION DETAILS: The Typical Road Section under requirements, shoulder indicates trying to convey the 12" of stabilized LBR 40 extends out from edge of pavement 6". Shoulder sod is included with ROW Sod (Item 47 (Base Bid), Item 93 (Additive Bid)).

5. Question: It was brought up at the prebid that the Contractor would be responsible for the Gopher Tortoise relocation yet there is no bid item. The pricing will vary after a tortoise survey is done. How is it possible to ask the Contractor to establish pricing for this item without the tortoise survey information?

Answer: The Contractor is not responsible for the Gopher Tortoise relocation. Brooksville - Tampa Regional Airport will be responsible for Gopher Tortoise relocation and permit fee's associated Gopher Tortoise relocation.

6. Question: Does the excess fill material become the property of the Contractor or is it mandatory that the Contractor relocate excess fill material to the stockpile area?

Answer: Brooksville - Tampa Bay Regional has no use for excess fill material therefore is it the Contractor's responsibility to remove and dispose of said excess fill material.

7. Question: 120 Days to substantial is not enough time. Can days be added to this project?

Answer: Please see response to question 3.

8. Question: Is the excess dirt staying on the airport's property, per the note on plan sheet C-06?

Answer: Please see response to question 6.

Acknowledged

Issued: September 1, 2020

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James S. Wunderle 9-01-7
Purchasing and Contracts Manager

Chief Procurement Officer, Hernando County

ADDENDUM NO. TWO (2)

TO
THE CONTRACT DOCUMENTS
FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. CLARIFICATIONS

1. Question: Seems like the bid form items and the plans aren't quite matched up per the correct roads. Has anyone else noticed this?? How should we bid the qty's? Per the bid form or per the Plans and their respective roads?

One example would be the Water service. It's on the Technology Drive Bid form – Item no. 83, but it's actually on the Telcom Drive Plans... And this is just one example, the 12x8 tees are off, 8" caps etc....

Answer: No other Bidders have indicated an issue. Bid per the Bid Sheet.

Acknowledged

Issued: September 4, 2020

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James S. Wunderle

Purchasing and Contracts Manager

Chief Procurement Officer Hernando County

ADDENDUM NO. THREE (3)

TO
THE CONTRACT DOCUMENTS
FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. CLARIFICATIONS

1. Question: Can the geotechnical report referenced in the project documents be provided? If that is not available can the bidders visit the site and acquire their own samples?

Answer: Please see attached.

Acknowledged

Issued: September 10, 2020

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James S. Wunderle

Purchasing and Contracts Manager

Chief Procurement Officer, Hernando County

ADDENDUM NO. FOUR (4)

TO
THE CONTRACT DOCUMENTS
FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN HERNANDO COUNTY, FLORIDA SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020 SEPTEMBER 23, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. AMENDMENT TO SECTION II - SOLICITATION INSTRUCTIONS

SECTION 4 TIMETABLE:

Date of Distribution: AUGUST 12, 2020

Non-Mandatory Pre-Bid: AUGUST 24, 2020 AT 9:00 A.M.
Last Date of Inquiries: SEPTEMBER 3, 2020 AT 5:00 P.M.

Bids Due: SEPTEMBER 16, 2020 AT 3:00 P.M. SEPTEMBER 23, 2020 AT 3:00 P.M.

B. CLARIFICATIONS

A revised Bid Form is being prepared and will be issued by Addendum when ready.

Acknowledged

Issued: September 14, 2020

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James S. Wunderle
Purchasing and Contracts Manager

Chief Procurement Officer, Hernando County

ADDENDUM NO. FIVE (5)

TO THE CONTRACT DOCUMENTS FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN HERNANDO COUNTY, FLORIDA SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020 SEPTEMBER 23, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

1 . . .

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. SECTION VII - BID FORM

 A Revised Bid Form is attached to this addendum. The Revised Bid Form attached shall be submitted with your bid response. Failure to submit the Revised Bid Form shall render your response as non-responsive.

B. CLARIFICATIONS

1. Question: Earthwork – Please breakdown the excavation and embankment cubic yard quantity by base & additive bid? Telcom Drive, Technology Drive, Pond Z-North & Pond Z-South.

Answer: Pond Z north would be included in Technology Drive and Pond Z South would be included in Telcom Drive.

2. Question: Earthwork – What bid, Base or Additive, should the pond embankment & excavation cubic yard be placed?

Answer: Excavation and Embankment.

3. Question: Are there FAA costs/permits associated with the bid that the contractor will be responsible for?

Answer: No.

4. Question: Are there any FAA restrictions? Equipment height, flags, training, etc.?

Answer: Yes.

16 2020

Acknowledged

Issued: Septembe

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James S. Wunderle

Purchasing and Contracts Manager
Chief Procurement Officer, Hernando County

ADDENDUM NO. SIX (6)

TO THE CONTRACT DOCUMENTS FOR THE

TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 20-CG0116/DK

BID DATE: SEPTEMBER 16, 2020 SEPTEMBER 23, 2020

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **TELCOM DRIVE AND TECHNOLOGY DRIVE ROADWAY EXTENSION**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. SECTION VII - BID FORM

 A Revised Bid Form is attached to this addendum. The Revised Bid Form attached shall be submitted with your bid response. Failure to submit the Revised Bid Form shall render your response as non-responsive.

B. CLARIFICATIONS

1. Question: Earthwork – Regarding the 24" Steel Casing Jack & Bore line item (60 LF), Can this be a Directional bore instead?

Answer: No.

Question: Technology Drive Part III Sanitary Sewer—regarding Line Item 78-Gravity Sewer Testing, shouldn't that line item be 1325 LF instead of the 497 LF that this addendum corrected it to?

Answer: Revise quantities to reflect 1325 LF.

3. Question: Also, the 6" PVC service line item (77) shows a new qty of 240 lf in red, but it is crossed out. Is this qty in red(240 LF) correct?

Answer: See Revised Bid Form Attached.

Agknowledged

Issued: September 21, 2020

BOARD OF COUNTY COMMISSIONERS

HERNANDO COUNTY

James \$. Wunderle

Purchasing and Contracts Manager Chief Procurement Officer, Hernando County

From: <u>Diane Kafrissen</u>

To: <u>"scotty.sitework@gmail.com"</u>
Cc: <u>debbie@civilsiteconstructors.com</u>

Subject: RE: 20-CG0116/DK Telcom Drive and Technology Drive Roadway Extension - clarification

Date: Monday, September 28, 2020 3:42:05 PM

Thank you Scott,

Per the Solicitation, Unit Price will prevail. I will realize the correction on my Bid Tabulation.

Diane Kafrissen
Purchasing Agent II
Hernando County Purchasing & Contracts
20 N. Main St., 2nd Floor, Rm 266
Brooksville, FL 34601
(352) 540-6268
(352) 754-4199 Fax

Sign up to receive the **Hernando Highlights** quarterly newsletter.

From: scotty.sitework@gmail.com <scotty.sitework@gmail.com>

Sent: Monday, September 28, 2020 3:40 PM

To: Diane Kafrissen < DKafrissen@hernandocounty.us>

Cc: debbie@civilsiteconstructors.com

Subject: 20-CG0116/DK Telcom Drive and Technology Drive Roadway Extension - clarification

Diane,

In explanation of how Line 64 on Addendum 6 Bid Form -2^{nd} Revision got changed from a quantity of 10,000 to a quantity of 1,000. All I can honestly say is that while reconstructing the bid sheets to an excel format so that the bid sheets could be totaled and rechecked as various pricing was received from subcontractors and suppliers and was applied to the bid I had a typographical error that was not picked up during proof reading.

Thanks,

Scott Mitchell Civil Site Constructors, Inc. Cell 813-267-7475